13.01



Service Parts List C= |L_ | C=

Function Code 13.01 Seat Runners

Dep Part Description Remarks Option Part Number Qty
01 Seat Runners, driver, RHD A111V0012J 1
01a  Seat Runners, driver, LHD A111vV0011J 1
02 Seat Mounting Frame, passenger, RHD A111V0013F 1
02a Seat Mounting Frame, passenger, LHD A111V0014F 1
03 Screw, M8 x 20, cap hd. Runner rear fix. A111WT7130F 2
04 Stop, seat runner B111V0017F 2
05 Screw, M8 x 25, cap hd. Runner front fix. A111W7115F 2
06 Screw, M8 x 16, cap hd. Mounting frame fix. A111W7125F 4
07 Screw, M8 x 12, button hd. Side brackets to seat fix. A111WT7131F 4
GEiISsS=

2001 /701

Function Code: 13.01, Page: 1



13.02



Service Parts List C= |_|SS C=

Function Code 13.02 Seat Assemblies

Dep Part Description Remarks Option Part Number Qty
01 Seat Assembly, without lumbar support Black cloth, standard A117V0124J 2
01a Seat Assembly, without lumbar support Seat sides/top in carbon leather  Black aicantara, race tech A117V0125J 2
01b  Seat Assembly, without lumbar support Seat sides/top in carbon leather  Red alcantara, race tech A117V0126J 2
01c  Seat Assembly, without lumbar support Seat sides/top in carbon leather  Blue alcantara, race tech A117V0127J 2
01d  Seat Assembly, without lumbar support Seat sides/top in carbon leather  Silver alcantara, race tech A117vV0128J 2
01e Seat Assembly, without lumbar support Seat sides/top in keprotec fabric  Black leather, sports tourer A117V0129J) 2
01f  Seat Assembly, without lumbar support Seat sides/top in keprotec fabric  Red leather, sports tourer A117V0130J 2
01g Seat Assembly, without lumbar support Seat sides/top in keprotec fabric  Blue leather, sports tourer A117V0131J 2
01h  Seat Assembly, without lumbar support Seat sides/top in keprotec fabric  Silver leather, sports tourer A117V0132J 2
01i  Seat Assembly, without lumbar support Seat sides/top in keprotec fabric  Green leather, sports tourer ~ A117V0133J 2
01j Seat Assembly, without lumbar support Seat sides/top in keprotec fabric  Beige leather, sports tourer A117V0134J 2
01k  Seat Assembly, without lumbar support Seat sides/top in keprotec fabric  Tan leather, sports tourer A117V0135J 2
02 Seat Assembly, with lumbar support, RH pump/valve Black cioth, standard A117V0136J 1
02a Seat Assembly, with lumbar support, RH pump/vaive Seat sides/top in carbon leather  Black alcantara, race tech A117V0137J 1
02b  Seat Assembly, with lumbar support, RH pump/valve Seat sides/top in carbon leather  Red alcantara, race tech A117V0138J 1
02c  Seat Assembly, with lumbar support, RH pump/valve Seat sides/top in carbon leather  Blue alcantara, race tech A117V0139J 1
02d  Seat Assembly, with lumbar support, RH pump/valve Seat sides/top in carbon leather  Silver alcantara, race tech A117V0140J 1
02e Seat Assembly, with lumbar support, RH pump/valve Seat sides/top in keprotec fabric  Black leather, sports tourer A117V0141J) 1
GELISC:=

2001 /01

Function Code: 13.02, Page: 1



13.02



Function Code 13.02 Seat Assemblies

Dep

Part Description

Remarks

Option

Part Number

02f

Seat Assembly, with lumbar support, RH pump/valve

Seat sides/top in keprotec fabric

Red leather, sports tourer

A117V0142J

02g

Seat Assembly, with lumbar support, RH pump/valve

Seat sides/top in keprotec fabric

Blue leather, sports tourer

A117V0143J

02h

Seat Assembly, with lumbar support, RH pump/valve

Seat sides/ top in keprotec fabric

Silver leather, sports tourer

A117V0144J

02i

Seat Assembly, with lumbar support, RH pump/valve

Seat sides/top in keprotec fabric

Green leather, sports tourer

A117V0145J

02j

Seat Assembly, with lumbar support, RH pump/valve

Seat sides/top in keprotec fabric

Beige leather, sports tourer

A117V0146J

02k

Seat Assembly, with lumbar support, RH pump/valve

Seat sides/top in keprotec fabric

Tan leather, sports tourer

A117V0147J

02|

Seat Assembly, with lumbar support, LH pump/valve

Black cloth, standard

A117V0148J

02m

Seat Assembly, with lumbar support, LH pump/valve

Seat sides/top in carbon leather

Black alcantara, race tech

A117V0149J

02n

Seat Assembly, with lumbar support, LH pump/valve

Seat sides/top in carbon leather

Red alcantara, race tech

A117V0150J

020

Seat Assembly, with lumbar support, LH pump/valve

Seat sides/top in carbon leather

Blue alcantara, race tech

A117V0151J

02p

Seat Assembly, with lumbar support, LH pump/valve

Seat sides/top in carbon leather

Silver alcantara, race tech

A117V0152J

02q

Seat Assembly, with lumbar support, LH pump/valve

Seat sides/top in keprotec fabric

Biack leather, sports tourer

A117V0153J

02r

Seat Assembly, with lumbar support, LH pump/valve

Seat sides/top in keprotec fabric

Red leather, sports tourer

A117V0154J

02s

Seat Assembly, with lumbar support, LH pump/valve

Seat sides/top in keprotec fabric

Blue leather, sports tourer

A117V0155J

02t

Seat Assembly, with lumbar support, LH pump/valve

Seat sides/top in keprotec fabric

Silver leather, sports tourer

A117V0156J

O2u

Seat Assembly, with lumbar support, LH pump/valve

Seat sides/top in keprotec fabric

Green leather, sports tourer

A117V0157J

02v

Seat Assembly, with lumbar support, LH pump/valve

Seat sides/top in keprotec fabric

Beige leather, sports tourer

A117V0158J

02w

Seat Assembly, with lumbar support, LH pump/valve

Seat sides/top in keprotec fabric

Tan leather, sports tourer

A117V0158J

03

Inflatable Lumbar Support/Tube

Option on standard car

Race Tech/Sports Tourer

A111VO117F

04

Pump & Valve, lumbar support

Option on standard car

Race Tech/Sports Tourer

A089V6142F

05

Bracket, pump & valve assy. mounting

Option on standard car

Race Tech/Sports Tourer

B111V0127F

Qty
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

=S c=

2001 /01

Function Code: 13.02, Page: 2



13.02



Function Code 13.02 Seat Assemblies

Dep Part Description Remarks Option Part Number Qty
06 Screw, M8 x 25, big hd., bracket to seat Option on standard car Race Tech/Sports Tourer A111W6E532F 4
07 Nyloc Nut, M8, seat to runner/frame v AO075W3010Z 4
08 Washer flat, M8 x 17 x 1.6, seat to runner/frame A075W4020Z 4

LIS C=

Function Code: 13.02, Page: 3

2001 / 01



5
=t




Service Parts List C= |L_|S C=

Function Code 13.27 Seat Belts

Dep Part Description Remarks Option Part Number Qty
01 Seat Belt Assembly Includes fixings, Items 2,3,4,5. A111U0001F 2
02  Cap, black, top fixing bolt - A111U6015H 2
03  Spacer - N A111U0017F 2
04  Spring, buckle to seat S A111U6016F 2
05  Bolt, special, buckle to seat fix. - B111U0016F 2

CE LIS CE Function Code: 13.27, Page: 1





